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Which one of the following. is the best title for the text?

What is the main message/main idea of this text?

Which one of the following best identifies the main topic of the passage?

The author describes . . .in order to

2. HWEX

BERBEEELEEEEN XTI RANEREL AVHEAREN, KANBETRRN.

The passage suggests that. . .

flan .

The passage suggests that if all insurers classified risk, who among the following would be
adversely affected?
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In the third paragraph, Doctor Laragh implies that

It can be inferred that the author believes
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The phrase “vocal exponent” (Line 2, paragraph 4) most probably means

5. #Emjln RN L-Ig

X o] R B OR BB AE & T SR E R R B U SR HI T AE B X X BT iR b B S B
BIRXKRABANTEELTHEBEBRLENE, CFE LS BA UK K TR 88
Ho WREETHERN:

The author’s attitude is best described as which of the following?
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Which one of the following cases is least likely to indicate sex discrimination, as it is descﬁbed in
the passage?

With which of the following is the author least likely to agree?
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1 . 3 8 4t

In most developed countries, men have higher salaries, on average, than women. Much of the
salary differential results from the tendency of women to be in Jower-paying occupations. The question
of whether this occupational employment pattern can be attributed to sex discrimination is a complex
one. In fact, wage differentials among occupations are the norm rather than the exception. Successful

athletes commonly earn more than Nobel Prize-winning academics; gifted artists often cannot earn
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enough to survive, while mediocre investment bankers prosper. Given such differences, the question
naturally arises: talent and ability being equal why does anyone — man or woman — enter a low-pay-
ing occupation? One obvious answer is personal choice. An individual may prefer, for example, to
teach math at a modest salary rather than to become a more highly paid electrical engineer. Some
people argue that personal choice also explains sex-related wage differentials. According to this expla-
nation, many women, because they place a high priority on parenting and performing household ser-
vices, choose certain careers in which they are free to enter and leave the work force with minimum
penalty. They may choose to acquire skills, such as typing and sales clerking, that do not depreciate
rapidly with temporary absences from the work force. They may avoid occupational specialties that re-
quire extensive training periods, long and unpredictable hours, and willingness to relocate, all of
which make specialization in domestic activities problematic. By choosing to invest less in developing
their career potential and to expend less effort outside the home, women must, according to this expla-
nation, pay a price in the form of lower salaries. But women cannot be considered the victims of dis-
crimination because they prefer the lower-paying occupations to higher-paying ones.

An altemative explanation for sex-related wage differentials is that women do not voluntarily
choose lower-paying occupations but are forced into them by employers and social prejudices. Accord-
ing to proponents of this view, employers who discriminate may refuse to hire qualified women for rela-
tively high-paying occupations. More generally, subtle society-wide prejudices may induce women to
avoid certain occupations in favor of others that are considered more suitable. Indeed, the “choice” of
women to specialize in parenting and performing household services may itself result from these subtle
prejudices. Whether the discrimination is by employers in a particular occupation or by society as a
whole is irrelevant; the effect will be the same. Further, if such discrimination does occur, women ex-
cluded from certain occupations will flood others, and this increase in supply will have a depressing ef-

fect on wages in occupations dominated by women.

1. Which one of the following is the best little for the passage?
[A) Wage Differentials between Men and Women
[B] Women in Low-Paying Occupations: Do They Have a Choice?
[C] Sex Discrimination in the Workplace _
(D] The Role of Social Prejudice in Women’s Careers.
2. In stating that “Successful athletes commonly eam more than Nobel Prize-winning academics” , the
author’s primary purpose is to
[ A] suggest that people with talent and ability should not enter low-paying occupations.
[ B] show that highly paid occupations generally require long hours and extensive training.
(C] imply that a person can be successful and still not make much money.
[D] give an example of how certain occupations are better paid than others, regardless of inherent

worth or talent required.



3. Which one of the following cases is least likely to involve sex discrimination, as it is described in
the passage?
[ A] An employer hires a man rather than an equally qualified woman .
[B] A woman chooses to enter a high-paying occupation that uses her talent and ability .
[C] A woman chooses an occupation that is already dominated by women.
[D] A woman chooses a low-paying job that allows her to devote more time to her family.
4. Which one of the following statements is the best completion of the last paragraph of the passage?
[A] Wage differentials will become more exaggerated and economic parity between men and women
less and less possible.
[B] Finally, women will be automatically placed in the same salary range as unskilled laborers.
[C] The question is, how long will women allow themselves to be excluded from male-dominated
occupations?
[D] In the last analysis, women may need to ask themselves if they can really afford to allow sex
discrimination to continue.
5. The author’s attitude toward sex discrimination as an explanation for wage differentials can best be
characterized as
[ A] critical of society’s acceptance of discrimination
[B] skeptical that discrimination is a factor
[C] neutral with respect to its validity
[D] frustrated by the intractability of the problem
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Read the following texts and answer the questions which accompany them by choosing A, B, Cor D.
Text 1

There were several reasons why the Industrial Revolution started in Great Britain rather than in
France, the other great power of the day. In the first place, Britain had the money necessary to finance
the larger enterprises. England’s supremacy on the seas had encouraged commerce, and Englishmen
had been amassing wealth through their commerce and industry. The newly rich class in that country
were not the aristocratic group, but merchants and businessmen who were willing to devote themselves
to industry and scientific agriculture. The wealth of France, on the other hand, was largely in the
hands of the nobility, and they were not willing to do the necessary work to develop industry. In the
second place, Great Britain had undertaken very early the manufacturing of inexpensive and more prac-
tical products for which there would be ever-growing demand from the people, especially the new mid-
dle class. On the other hard, France produced articles in the luxury class. These could never be
turned out in quantities because they demanded individuality. England was the producer of goods that
were produced in quantities, and if she could find a cheaper means of producing them, her markets
would grow. So she was ready for methods that would make it possible to manufacture in large quanti-
ties. In the third place, for a long time England had large numbers of semiskilled workers. When the
feudal system broke down in England and the manors were tumed to sheep raising, numbers of Eng-
lishmen went to the towns. There they engaged in weaving, making shows, wood carving and many
other occupations that developed skills. When the Industrial Revolution began, these men were avail-
able for the work on the new machines. Moreover they were free men who could move from place to
place as the need for workers arose. This had not been the case in France, which was still chiefly an
agricultural country with peasants bound to their masters in many ways so they could not easily move to
the cities. In the fourth place, coal was abundant in Great Britain, and a large amount of this cheap
fuel was necessary for running the factories. There was coal in northem France, too, but France was
late in tapping such resources because really everyone depended directly or indirectly on farming for his
living .

1. Britain had the money necessary to develop industry because o
[ A] Britain was much wealthier than France at that time
[ B] Britain government encouraged the development of industry
[ C] the merchants and businessmen were willing to finance the industry
[ D] the aristocratic group was willing to develop the industry
2. According to the passage, French people attached importance to

[ A] the quantities of the articles

[B] the individuality of the articles
[ C] the practicality of the articles
l

D] the price of the anicles
6



3. Which of the following statements is true?
[A] The wealth of France was largely in the hands of the new middle class.
[ B] French people were bound to the new machines.
[C] France was more likely to produce goods in qualities.
(D] France could not get free workers necessary to the industry.
4. When the Industrial Revolﬁtion began, Englishmen
[A] were busy amassing wealth through commerce and industry
[B] had found a cheaper means of producing goods needed in quantities
[C] depended on farming for their living
[D] could move from place to place as the need for workers arose
5. What can be inferred from the passage?
[A] The demand for luxury goods was limited.
[B] Industrial Revolution was the result of the interaction of various factors.
[C] French people preferred farming to industry and commerce.
[D] Coal was very important to people’s life.

Text 2

Becket not only traveled light, he lived light. In all over the world he owned just the clothes he
stood up in, a full suitcase and a bank account. Arriving anywhere with these possessions, he might
just as easily put up for a month or a year as for a single night. For long stays, not less than a month,
he might take a furnished flat, sometimes even a house. But whatever the length, he rarely needed
anything he did not have with him. He was, he liked to think, a self-contained person.

Becket had one occasional anxiety: the suspicion that he owned more than that would fit comfort-
ably into the case. The feeling, when it came, was the signal for him to throw something away or just
leave it lying about. This was the automatic fate of his worn-out clothes for example. Having no use for
choice or variety, he kept just a raincoat, a suit, a pair of shoes and a few shirts, socks and so on; no
more in the clothing line. He bought and read many books, and left them wherever he happened to be
sitting when he finished them. They quickly found new owners.

Becket was a professional traveler, interested and interesting. He liked to get the feeling of a
place by living in it, reading its newspapers, watching its TV, discussing its affairs. Though Becket’s
health gave him no cause for alarm, he made a point of seeing a doctor as soon as he arrived any-
where. “A doctor knows a place and its people better than anyone”, he used to say. He never went to
see a doctor; he always sent for one; that, he found, was the quickest way to confidences, which
came out freely as soon as he mentioned that he was a writer.

Becket was an artist as well. He painted pictures of his places and, when he had gathered enough
information, he wrote about them. He sold his work, through an agent, to newspapers and magazines.
It was an agreeable sort of life for a good social mixer, and as Becket never stayed anywhere for long,

he enjoyed the satisfying advantage of paying very little in tax.



6. What do we know about Becket’s possessions?
[A] He had enough baggage to stay for one night.
[ B] He carried all of them around with him.
[C] He had thrown or given them away.
[D] He left most of his things at home when he traveled.

7. Becket took over a flat when
[ A] there were no suitable hotels
[B] he meant to stay somewhere for several nights
[C] he was sure of staying a year or more
[D] he expected not to move on for a month at least

8. How did Becket feel about taxation?
[A] It worried him, so he kept moving from place to place.
[B] He hated it, so he broke the tax laws.
[C] He was pleased he could honestly avoid it.
[D] He felt ashamed of not paying taxes.
9. If anything worried Becket, it was

[A] the thought of having too much baggage
[B] his habit of leaving things lying about
[C] the fact that he owned so little
[D] the poor state of his clothes

10. Becket did not keep books because
[A] he had not interest in literature
[B] the books he read belonged to other people
[C] he had no room in his case for them
[D] he preferred to give them to his friends

Text 3

Representatives of Callahan Media Associates (CMA) announced today that the news agency
would attempt to buy the National Broadcasting System (NBS), the second largest television and radio
network in the United States. Ronald Callahan, son of Jessica Callahan, who started CMA, told
reporters that he expects his company’s offering price to be high enough to win out over other offers.
He indicated that NBS executives had already discussed reorganization plans that might result from a
CMA takeover.

A native of the United Kingdom, Jessica Callahan began to buy newspapers, magazines, and
radio stations in the United States eight years ago, and CMA now owns or controls more than fifteen
news organizations here. Before she became a leader in media in this country, she had established her

family-owned company as one of the most important forces in British TV and newspapers. Callahan
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